Stands User Manual

Desk with File Drawer and 2 Monitor

o\
/

/
/ o







Accessories

x9 (1 spare

@
6 (1 spare)

M5X9

M6X20 [x5 (1 spare)

white

[x1 [x1 [X1] [x1 ] [x2 |
G H | J
/I% [x1 [x1] IT%
K L M o _|p
=
o s <P S
[x1] [x2 | (x| (x4 E
W

@

M6X23 [x9 (1 spare)

@

M6X28 | x24 (2 spares)

@\
s

@

©

0 L | &
M6.3X45| X9 (1 spare) [x2 | wodden pin [x2 ]
@2 @9
W)
<>
[x1 ] [ x1 ] [x2 ] [x1 | ST4x12 |x3 (1 spare
@,
Q é
\ )
[ x2 | x3 (1 spare)




Step 1: Assemble the frame of file cabinet

C \
Please Keep the drawer support
at the same direction. S
C | S N |
S D\$Q:
X1 N :
D N : S \
N
X1 N V' @
: \%u
X2 /
®

O
x4

©

x1




Step 3: Assemble the metal tube F for connecting
the file cabinet and side frame

F ® 0,
x1 / X2 x1 E/




Step 5: Assemble the pc tower

Step 6: Screw in the adjustable feet




Step 7: Build frame of the desk

E

RS

&)

- | <
x4 %\
© \>

- i

x1

Step 8: Assemble one side top board and power outlets

K

X1

2| | =y
Ol PPy
%K -
° T~




Step 9: Connect two top boards

M
x1©
Yl 4

x4

W
S

Q)

X1

\




Step 11: Assemble two monitor stands

@
X8

@
|

O
x4

J
X2




Step 12: Assemble the fabric drawer

X1

x1




Step 14: Assemble the accessories of file cabinet

N N4

P €) ©)
x1\\x4 X1 M

Step 15:Assemble metal hooks and put in the fabric
drawer and file cabinet




Customer Service

1-Year Warrant

We guarantee your product is free from defects in ptoduct material and
work manship for one(1)year starting from the date of purchase during
normal use of household conditions. If your appliance fails within

the limited warranty period, we will arrange a new replacement free

of charge, and cover all the shipping costs.






